	Page No	3)17040Mg)	
Misc item	5		300000
46.	House Decoration items		200000
47.	Plants & Flowers		500000
48.	Grocery Shop (within residenti compound)	131	1000000
	Total (F)		

			In words
		Amount (in Rs)	111 4401.03
SI. No.	Calculation Head	18500000	
1.	Total (A)	669400	
2.	Total (B)	244000	
3.	Total (C)	147250	
4.	Total (D)	1974500	
5.	Total (E)	1000000	Rupees two crore twenty five
6.	Total (F)	22535150	lakh thirty five thousand one
Total approx. cost			hundred fifty only
			nunarea mey smy
			ties at the earliest.

I kindly request you to take up necessary legal action, so as to recover my looted properties at the earliest. This report couldn't be filed in time as I have fled my residence, the trauma witnessed, and my prevailing health conditions.

Yours faithfully, Sd/-Zamkhup Vaiphei (65) yrs (Retd Subedar Major, 39 Assam Rifles) S/O Thangvung Vaiphei Present Address- Guwahati, Assam Phone No. 8731906026

-					and a manus and	-
Electric	c Fittings & Electronic Appliances				Partition	
18.	Geyser	01	No	8000	8000	
19.	Washing Machine	01	No	15000	15000	
20.	Refrigerator (02 Doors)	01	No	27000	27000	
21.	Ceiling fan	07	Nos	3500	24500	
22.	Table fan	01	No	2500	2500	
23.	Electric Heater	02	Nos	3000	6000	
24.	Exhaust Fan	01	No	1500	1500	
25.	Electric Bulbs	25	Nos	550	13750	
26.	Electric Water pump	02	Nos	10000	10000	
27.	Television 51 inch	01	No	37000	37000	
28.	Jio Wifi	01	No	2000	2000	
	Total (D)				147250	
	Clothings					
29.	Blankets (un used)	35	Nos	2500	87500	
30.	Blankets (used)	15	Nos	1500	22500	
31.	Bedsheets (Un-used)	15	Nos	1500	22500	
32.	Bedsheets (used)	20	Nos	1000	20000	
33.	Pillow cover	20	Nos	350	7000	
34.	Women's wrapped around	300	Nos	3000	900000	
35.	Traditional Shawl	200	Nos	2000	400000	
36.	Men's Formal Coats	10	Nos	15000	150000	
37.	Men's Jackets & Sweaters	20	Nos	1500	30000	
38.	Women's Formal Coats	10	Nos	2500	25000	
39.	Women's Jackets & Sweaters	25	Nos	1500	37500	
40.	Men's Formal Shirts & Pants	30	Nos	1000	30000	
41.	Women's Formal Tops	25	Nos	2500	62500	
42.	Salwar, Saree, Kurta	50	Nos	1500	75000	
43.	Women's Shoes & Sneakers	30	Nos	2000	60000	
44.	Men's Shoes & Sneakers	15	Nos	2500	37500	
45.	Sandals & Slippers	30	Nos	350	7500	

The Officer-In-Charge Kangpokpi Police Station Kangpokpi District, Manipur, 795129

Subject-Report on looting of household properties.

Respected Sir,

With the prevailing riot and unrest situation of Manipur, li am written to report the incidence of looting and theft that occure4d since the start of communal violence i.e. 3rd May, 2023. Some unknown miscreants have forcibly entered by residence at K. vengnom, near IGAR(S), Mantripukhri, Manipur by breaking the lock and keys of my residence, while I have taken shelter at IGAR(S) campus Mantripukhri and hence fled to Guwahati, Assam on 1st Jun of 2023 fearing for the safety of my life due to the current ongoing communal riots.

The detail assessment of goods & properties abandoned/vandalized/looted at above mentioned address are as under:

The detail assessment of goods & Properties abandoned / Vandalized / looted at above mentioned address are

SL/No	Nomenclature	Qty	A/U	Approx Cost	Total Cost
	ot and Construction			· · · pp·· ox cost	Total Cost
1.	Plot size 15 point	-	-	-	10500000
2.	Construction cost		-	-	8000000
	Total (A)				
_	Furniture & Fixtures				18500000
1.	Bed	06	Nos	20000	120000
2.	Iron Almirah	06	Nos		120000
3.	Wooden Almirah	02	Nos	15000	90000
4.	Dining Table with 06 Chairs	01		45000	90000
5.	Sofa set with cushion	03	Nos	70000	70000
6.	Central Table	-	Nos	23000	69000
7.	Wooden Arm Chair	02	Nos	10000	20000
8.	Mattress	04	Nos	2000	8000
	(a) King size 6 inch thick				
		02	Nos	20000	40000
	(b) Medium size 8 inch thick	02	Nos	28000	56000
	(c) Single size 5:	03	Nos	13000	
9.	(c) Single size 5 inch thick			13000	39000
	Iron Trunk Box with clothes 10		Nos	Nos 5000	50000
10	Plastic chairs			3000	50000
11.	Cane Mora	06	Nos	400	2400
	Total (b)	10	Nos	1500	15000
	rotal (b)		•	1300	
Utensil ((Kitchen Wares)				669400
	(with wates)				
12.	Vessels				
13.	Gas Cylinders	40	Nos	2000	80000
	das cylinders	05	Nos	4500	22500
14	Gas Stoves			1,500	22500
	Cas 3(0VE)	01	Nos	7000	7000
15	Samsonic Flootric Di				7000
	Samsonic Electric Dispenser	01	Nos	5000	5000
16.	Dinner sets over				3000
	Dinner sets, oven, cookers,	-	-	115500	115500
	Grinders, induction, cup sets,			113300	113300
	plates, Hot cage, curry bowl,				
	casserole and so on.				
17.	Syntex (water Tank)				
	(a) 1000 Ltrs				14000
	(a) 1000 F(12	02	Nos		000

FIRST INFORMATION OF A COONIZABLE CRIME REPORT UNDER SECTION HIBET INFORMATION 154 CRIMINAL PROCEDURE CODE AT POLICE STATION-

Sub. Division:- Porompat

District :- Imphal East District

FIR No. 154(07) 2023 HNG-PS U/S 147/148/149/427/380/448/34 IPC

Date & hours of occurrence:-Date and time not mention

ince & Date of despatch from the
Date of despatch from police station
nom near 02/07/2023 at 3 Km
1

N.B.- A first information must be authenticated by the signature mark of thumb impression of informant and attested by the signature of the officer recording it.

Name & residence of informant/complainant	Name & residence of accused	Brief description of offence with section and of property carried off if any	Step taken regarding investigation explanation of delay in recording information	Result of the case
Zamkhup Vaiphei (65) yrs (Retd. Sub. Major, 39 AR) S/o Thangvung vaiphei of Torbung Village A/p Guwahati Assam	Some unknown miscreants	Criminal Riots, Damage, theft, Criminal house trespass with common intention. Punishable	SI N. Sanatomba Singh of HNG-PS will please investigations.	
		<u>U/S</u> 116/153-A/34 IPC		

OE attached

SI, OC/HNG-PS 02/07/2023

a commission

Signed:-SI, N. Jhaljit SIngh

Designation: - SI, OC/HNG-PS

Dated:-02/07/2023

Officer-in-charge Heingang Police Station Imphal East Distric